
姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

负数指数加减乘除

4 + 5 =(−2) 10 + 9 =

8 − 4 =0 (−2) − 5 =

10 + 5 =(−2) 4 + 7 =2

10 − (−10) =2 9 + (−9) =(−1)

5 − 5 =(−1) 2 + 2 =2

1 − (−5) =(−1) 7 − (−10) =(−1)

(−10) + (−7) =0 8 − 2 =0

2 + (−2) =(−2) (−2) − 4 =(−1)

5 + (−9) =2 3 − (−3) =2

(−4) + 2 =(−1) (−7) − 9 =(−2)
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姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

负数指数加减乘除

4 + 5 = = 5(−2)

16
81

16
1

10 + 9 = 19

8 − 4 = (−3)0 (−2) − 5 = (−7)

10 + 5 = = 5(−2)

100
501

100
1

4 + 7 = 232

10 − (−10) = 1102 9 + (−9) = (− ) = (−8 )(−1)

9
80

9
8

5 − 5 = (− ) = (−4 )(−1)

5
24

5
4

2 + 2 = 62

1 − (−5) = 6(−1) 7 − (−10) = = 10(−1)

7
71

7
1

(−10) + (−7) = (−6)0 8 − 2 = (−1)0

2 + (−2) = (− ) = (−1 )(−2)

4
7

4
3

(−2) − 4 = (− ) = (−4 )(−1)

2
9

2
1

5 + (−9) = 162 3 − (−3) = 122

(−4) + 2 = = 1(−1)

4
7

4
3

(−7) − 9 = (− ) = (−8 )(−2)

49
440

49
48
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